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Consider a sample of oxygen behaving like an ideal gas. At 300 K, the ratio of root mean
square (rms) velocity to the average velocity of gas molecule would be :

(Molecular weight of oxygen is 32 g/mol; R=8.3 J K~ 1 mol - 1)

Options :
I
3
86435118901.
8
86435118902. 3
£
3
86435118903.
3
86435118904. 3

Question Number : 1 Question Id : 8643516301 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
80) EDEA CLIMBHOOT Caldfrl Hal®MmIN)M B8] BoHmilEm momicd aldlwendasid.
300K cuomds emosllayslan audmaiel tamovedl aleaum@sing (i vd@l ([lerUtnmow 88

@ominlome EDWICleeo.
(Molecular weight of oxygen is 32 g/mol; R=83 J K~ ! mol 1)

Options :
I
3
86435118901.
8
86435118902. 3
£
3

86435118903.
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|
86435118904. V3

Question Number : 2 Question Id : 8643516302 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

An object of mass m, collides with another object of mass m,, which is at rest. After the
collision the objects move with equal speeds in opposite direction. The ratio of the masses
m, : m, 15 :

Options :

=

86435118905, 1

1
86435118906.

2

=l

86435118907.

3:

=

86435118908.

Question Number : 2 Question Id : 8643516302 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

mlvaielinod@dlanim oo m, 988 en) aum®mia/lad oo m, £88 680) AUN®]
cunilsSlenimm). e0sléanieuaato CUMImEntd menzlo Al dluald eer eourmalla
21eflee)m). m, : m; ag)(Mm @RMjaldmo @R

Options :

86435118905, 1 * 1

1
86435118906.

86435118907, 2 1

86435118908, > ° 1

Question Number : 3 Question Id : 8643516303 Question Type : MCQ Option Shuffling : Yes Is
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Question Mandatory :

No

Correct Marks : 4 Wrong Marks : 1

A particle of mass m moves in a circular orbit under the central potential field, U(r) =

where C is a positive constant.

The correct radius

?Elf}cit}’ graph of the par’riclc-’s mobton is :

Options :
r A
O » T
86435118909.
r A
O » U
86435118910.
r A
8] » U
86435118911.
r .
O >0
86435118912.
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Question Number : 3 Question Id : 8643516303 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
C
O atogMauy@ adl@dely U(r) = T+ M B8R &) emild 80) alo@ld: (@memallnm ildd

aleflenymmy. oalles C ey eatomiiglal cudloosmoen.

BHEMIBHQIOS 2 ILIM@DION dhj@D0W @D - [IEQUWo (0al @6

Options :

C
86435118909.

I A

O 7
86435118910.

' &

QO » 7
86435118911.

r A

O >

86435118912.
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Question Number : 4 Question Id : 8643516304 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A solid cylinder of mass m is wrapped with an inextensible light string and, is placed on a
rough inclined plane as shown in the figure. The frictional force acting between the cylinder
and the inclined plane is :

60°

[The coefficient of static friction, L is 0.4]
Options :
.my_

86435118913. °

5 mg
86435118914.

= mg

=
86435118915. =
8643511&8916.

Question Number : 4 Question Id : 8643516304 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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momy m ea8 calo milefllensd cuelanomd mouwlendmm 6o} Bodo dioem AU@da ol
almowa soeml afldlenma ealonel 8] alol#nn (meaemlod oafldlenim).
milellenzole &.aidlenm (meiuje mallees celdayem enislo @DE:
[ cudiafleai@dontemn cudleoso p, 0.4 @y |

60°

Options :
m o

86435118913, °

5 mg,
86435118914.

me,

3 | "\-\.."

86435118915.

86435118916. i

Question Number : 5 Question Id : 8643516305 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If the angular velocity of earth’s spin is increased such that the bodies at the equator start
floating, the duration of the day would be approximately :

[Take g =10 ms ~2, the radius of earth, R =6400x 10 m, Take =23.14]
Options :
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does not change
86435118917.

1200 minutes
86435118918.

86435118919, 00 minutes

B84 minutes
86435118920.

Question Number : 5 Question Id : 8643516305 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

clow) cnaldienes cumMimenid aalosdlesisenimm allwemla ejadlwies &Hosoeslan
el (alenito aldallaflojm ey dlaumoden aige agmosn :
[ g=10 ms 2, R ealwes @moo=6400x10°m, w=3.14 |
Options :
86435118917. mopme=iaiy

1200 dileflgmy
86435118918.

86435118919, 60 dlailgmy

84 dlnﬂﬂ“nu"
86435118920.

Question Number : 6 Question Id : 8643516306 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Consider a uniform wire of mass M and Iength L. It is bent into a semicircle. [ts moment of

inertia about a line perpendicular to the plane of the wire passing through the centre is :

Options :

M2

2
86435118921.
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rd|._.'
(%]

86435118922.

-
r'N

4
86435118923.

LI

86435118924.

Question Number : 6 Question Id : 8643516306 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

oM’ M 8o mlgo L 9o 988 &0) afe®mom &Hmll aldlnemlenid. @@ &0)
@odwoyEmoHh @ Qe cusalldlenim). @@lon awiomlens &Sy Galddhim
SHMI@OS almealeniim) eleminow &0} enaicwos @mieminuilal @alan emonid aoad

EneMday) @DET

Options :
M2
2
a0
86435118921.
1 MIL2
2
86435118922, = T
1 MIZ
4 2
86435118923.
2 MIL2
5 o2

86435118924.

Question Number : 7 Question Id : 8643516307 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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The speed of electrons in a scanning electron microscope is 1x10” ms !, If the protons
having the same speed are used instead of electrons, then the resolving power of scanning

proton microscope will be changed by a factor of :
Options :

86435118925, 1837

86435118926.

1

A/ 1837

86435118927.

V1837

86435118928.

Question Number : 7 Question Id : 8643516307 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
80) Misomled enalaesoed midrdnaduiloilalcd eeldesoemi@halns ol 1x 107 ms !

@DEM. HEM® CUNMWIBE CalICS0MbUd 6D Ll B(SO6M Jdb (BB aldo @D
B leoudl ojom midoniled elnloesoem quidtin cdwlmlaes allecualm wem (resolving
power) ED(® @MSEUE U@ CUM)o:

Options :

86435118925, 1837

1

1837
86435118926.

1

1837

86435118927.

V1837

86435118928.

Question Number : 8 Question Id : 8643516308 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
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Correct Marks : 4 Wrong Marks : 1

The velocity - displacement graph of a particle is shown in the figure.

[y N

»>X

{-} 'J'-'U-

The acceleration - displacement graph of the same particle is represented by :

Options :
G Y
O X
86435118929.
a A
0 X
86435118930.
A
O > X
86435118931.
a 4
0 X
86435118932.

Question Number : 8 Question Id : 8643516308 Question Type : MCQ Option Shuffling : Yes Is
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Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

B0) heMlBbWINS lEOUU) MOIMINDE (Noad ali@memidd @0 afldlesimm):

(&' Y

Ty

> X

O

@OCD® dHENIlHWINS MM -UOIMINDO (0l quiallaflenima) :

Options :

86435118929.

86435118930.

86435118931.

86435118932.

Xo

O x
oA

O X
a4

O » X
a A

'®) X
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Question Number : 9 Question Id : 8643516309 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

For an adiabatic expansion of an ideal gas, the fractional change in its pressure is equal to

(where v is the ratio of specific heats) :

Options :
dV
W
"v.
86435118933.
V
) e
dV
86435118934.
1dv
v ¥
86435118935.
dv

86435118936,

Question Number : 9 Question Id : 8643516309 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
60} EREDHUD UIGEETIeNM EpAL@eRlE: Allearesia, eealem abammied ensonmm

Elomnamogo Mvamoen) :

Options :
dV
i
"v.
86435118933.
V
b e
dV
86435118934.
1dv
86435118935.
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dv
86435118936, ¥

Question Number : 10 Question Id : 8643516310 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The angular momentum of a planet of mass M moving around the sun in an elliptical orbit is

L . The magnitude of the areal velocity of the planet is :

Options :

86435118937.

86435118938.

86435118939.

86435118940.

Question Number : 10 Question Id : 8643516310 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

muieIm} alinle 6] dldealnlymm (E@emallo@mlad alelleanimm M momies &) [an@sle 0

GH06MIW @DHEO L @REM. (NaOETINMG (M [aleUm@mTIOn aldlmoemo @Rem:

Options :
L
86435118937.
L
2M

86435118938.

14/95



3/18/2021

o
86435118939, "

AL
86435118940, M

Question Number : 11 Question Id : 8643516311 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

An ideal gas in a cylinder is separated by a piston in such a way that the entropy of one part
is 5y and that of the other partis S5,. Given thatS, >5,. If the piston is removed then the total
entropy of the system will be :
Options :

5, X5,
86435118941.

86435118942, 515

S, +5,
86435118943 2

.51

52
86435118944,

Question Number : 11 Question Id : 8643516311 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
B0} BINOOM af)destall S, o A0EIMEEM ag)Mesdall S, oo @M allwedlld &g

mileflleglol@d cuallalenim @oed usmseem 60) allsed salecwowlal)
afleouslall@dleniony. S, > S, @@em. allmisend ag)siemioogl@om moallwomensilan

e@Emo af)desoal mowlldesio
Options :

S5, x5,
86435118941. B

86435118942, 51~ 5
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S, +5S
86435118943, ~1  “2

.51

86435118944, ~2

Question Number : 12 Question Id : 8643516312 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

m
The function of time representing a simple harmonic motion with a period of o
Options :

sin(wt) + cos(wt)
86435118945.

s 17
sin“(wt)
86435118946.

4

3{:05[— 2:1:’:1
86435118947 \4 J

cos(wt) + cos(2mt) + cos(3wt)
86435118948.

Question Number : 12 Question Id : 8643516312 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

@) L DEMM & 08lo % 988 80] Mes anddecadsmls alaimeom aviallafleniomm

MAQETILSE anessH0d @pen
Options :
sin(wt) + cos(wt)

86435118945.

s 7
sin“(wt)
86435118946.
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3{:05[3 2mt}
86435118947 \4 J

cos(wt) + cos(2mt) + cos(3wt)
86435118948.

Question Number : 13 Question Id : 8643516313 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
In a series LCR circuit, the inductive reactance (X, ) is 10 £} and the capacitive reactance (X-)
is 4 (). The resistance (R) in the circuit is 6 ().

The power factor of the circuit is :

Options :

=

86435118949.

M|g]'

86435118950.

er—d'

86435118951.

86435118952.

Question Number : 13 Question Id : 8643516313 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
80} euyeml LCR mudayiglad omawdslal dlmossmm’ 10 Q oo (X;) satomiiglal
Glodssmmy (X-) 42 9o mddaygleeal (alafleadwe 6 () o @BEM.
MdBUSIOMN ald andHsd @per)
Options :
!

N

86435118949.
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3

86435118950, 2

1
86435118951. 2
1
)
86435118952. 2£

Question Number : 14 Question Id : 8643516314 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Which of the following statements are correct ?
(A) Electric monopoles do not exist whereas magnetic monopoles exist.

(B) Magnetic field lines due to a solenoid at its ends and outside cannot be completely
straight and confined.

(C) Magnetic field lines are completely confined within a toroid.

(D) Magnetic field lines inside a bar magnet are not parallel.

(E) x= -1 is the condition for a perfect diamagnetic material, where y is its magnetic
susceplibility.

Choose the correct answer from the options given below :

Options :

86435118953. e Ry

(B) and (C) only
86435118954. i

86435118955, (1) and (B) only

86435118956, (©) and (E) only

Question Number : 14 Question Id : 8643516314 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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MY HER ANOMIONHE (MMM @R tdl@owa ?

(A) eld(Slda  emoeemoIcaligiedd  mlamli@enimilgl  afmod  Honle
GMOGEMOCAIOR G milaltilaan)mmyene

(B) cumsmBglelo al)0MM)DI88 CrISlemol OEIeNIENZo0IM &HONTld: MEMLElo
aljdemmomio coalwalje eralendd amierd dldsnimMmmie ERH60M quoulesg).

(C) en) esocnolauflad Homild memuele aljdemaswio @e@imiasld &wm)sus]
oril@dea Mmoo dles)o

(D) &) eruod HonmEVlad &Hotile: aembel eoeUd:td mamonmamowdlesio.

(E) e} oo aede:omilse cmimalen amaimomosm x = -1, oalles y aralen
0l rurvalslenileldl emen.

moe® mmildenmauaia dimje tdlwow samee GlEaEMMS 1B jdb. :

Options :

86435118953, ) e (D) @ @(@o

86435118954, (B) @0 (C) @lo 2O@O

26435118955, ) o {8) Chio Z0io

86435118956, () @io (E) @jo @mo(®o

Question Number : 15 Question Id : 8643516315 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The correct relation between « (ratio of collector current to emitter current) and § (ratio of

collector current to base current) of a transistor is :
Options :

o
1+

B=
86435118957.

86435118958.

19/95
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86435118959.

86435118960.

Question Number : 15 Question Id : 8643516315 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
80} oM@ o (melkrd HomMie agalnd HOMie madless @omialomo)do B

(dbelsnd HOMlo cenIm HOMie marlales @miald@o ) Ho MATIRIRE &)EIMOW ENIMbo

i

(Eitneim :
Options :
' o
3 =
l 1+«
86435118957.
B
o=
o
86435118958.
' 1
B =
1l— o
86435118959.
[
W= —-
F B
86435118960.

Question Number : 16 Question Id : 8643516316 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A proton and an a-particle, having kinetic energies KP and K, respectively, enter into a

magnetic field at right angles.

The ratio of the radii of trajectory of proton to that of a-particle is 2 : 1. The ratio of I(p t K,
15 :

Options :

86435118961, 1 4
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86435118962, 71

8
86435118963.

86435118964, 1 - 8

Question Number : 16 Question Id : 8643516316 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

mwallehodmo @okao K, K, 688 0] Galoe506Mio a-dhemnilo dhomild

P’
meMLEI@TeelHs) MGEHIMIE (lenudlenimm). Glaloegoemlanmmio a-&Hem@sflanuio
(VERUI D IXBWIOS BROETBRIOS @oMjaimo 2: 1 @em. K, : K, agm @nmjelomo @men) :

Options :

86435118961, 1 4

86435118962, 71

8
86435118963.

86435118964 1 - 8

Question Number : 17 Question Id : 8643516317 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Three rays of light, namely red (R), green (G) and blue (B) are incident on the face PQ of a
right angled prism POR as shown in the figure.

—

Q R

The refractive indices of the material of the prism for red, green and blue wavelength are

1.27, 142 and 1.49 respectively. The colour of the ray(s) emerging out of the face PR is:
Options :

86435118965 blue and green

86435118966, P1ue

green
86435118967.

86435118968, "¢

Question Number : 17 Question Id : 8643516317 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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80) a5eH506M (aflavo PQR @ PQ ag)mm cuwd@® ajom (aldowe euwdletd aliala] (R),
ala] (G), oflal (B), egilcu alaflenim). (ali@emiad soemlalldlenirmn eaioeel)

Q_I R

laflve cumimallend aljalal, alg), aflel ®ecwesncdealER@SE @RalaIdEmM udlodso
@Loghmo 1.27, 1.42, 1.49 @mem. cuwdo PR 2)©S allO@m) oy auwdlwies mloo

@R dleeo:
Options :

mleiio alalmlo
86435118965. : i

86435118966, &

ol
86435118967. =

01101
86435118968. 3 l‘?‘:r

Question Number : 18 Question Id : 8643516318 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The time taken for the magnetic energy to reach 25% of its maximum value, when a solenoid
of resistance R, inductance L is connected to a battery, is :

Options :

86435118969.

86435118970.
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— Inl0
86435118971.

infinite
86435118972.

Question Number : 18 Question Id : 8643516318 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
(@fleaowo R ©o snmuwasmm L oo 988 &) emoglemoaiol’ an) siogdleimoel
uWlafl ajo@ &Hondile membeimdlen aloadcldlwins 25% ag)@moad ag)Sieniom

TOMEAIEM :

Options :

86435118969.

86435118970.

L In10
R
86435118971.

@omamo
86435118972.

Question Number : 19 Question Id : 8643516319 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A pla_ne electmmagnefic wave propagating along y—direcfion can have the fn]lnwf_ng pair of

electric field {E] and magnetic field {E] components.
Options :

Ev’ B,f or E_, B.
86435118973, - = - T
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Ex i B;f or E

y By

86435118974.

26435118975 Lx’ Bz orE;, B,

E B orE_.B
86435118976. ¥ * L

Question Number : 19 Question Id : 8643516319 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

y- dlndlaes m)jemog) cald@lasanoengldlenim &0} (MLl S60UIG)LM - @Ol

DEMLEIETIMY ®I6P OdkosOEdaanymMaiad ap®) aHancucymomemEl iE} X Tq (12001 gVOT=Y

(3) emouledd @memjenzone 2
Options :

]31Jr . B,f o BB,
86435118973, =

E,,B,orE, , B,

86435118974 ¥’

E..B.orE ,B
86435118975. *° = A

E ,B.orE_ ,B
86435118976. ¥ * L

Question Number : 20 Question Id : 8643516320 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The decay of a proton to neutron is :
Options :

not possible as proton mass is less than the neutron mass
86435118977.

86435113978, Possible only inside the nucleus
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¢ ay 1 it 15 : 1 T OTAT] t N
26435118979, always possible as it is associated only with 5 decay

86435118980, 1Ot possible but neutron to proton conversion is possible

Question Number : 20 Question Id : 8643516320 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Glaloe506Nd MYIEIS0eND @O GUAJAHEM |alid@l®
Options :

86435118977, Glnl0G506eND MOV MYB(S0END MOMIEMEHUD @O EImoad muowme).

mMugslmiimias]ad @omo oW\ @O moeT.
86435118978. X =2 ¢ )

86435118979.
Ag)gJoWEa|0¥io MVOWMIET &HOMEMo @@ B+ EURaHeMALMOT] NIMLASRMOE.

MUOUN@E) aledH MYEISoemIm) Glatoegoem @@l monom &¥lw)e

86435118980.
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The projectile motion of a particle of mass 5 g is shown in the figure.

Vol i Y
Fase 15
A B

The initial velocit}f of the pa.r’ricle is f‘w@ ms ! and the air resistance is assumed to be negligible.

The magnitude of the change in momentum between the points A and Bis x <10~ ?kgms L.
The value of x, to the nearest integer, is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 21 Question Id : 8643516321 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

@OMS 5 g 88 B0} heMleh®ins OlaliRsenstd aleimo allmemilad eoen]afidleaiom).

Jase 455,
A

(1900@ (alGQUMo 5¢2 ms™ ag)Mio QU] (al@llemowo §NL) agiMio db@imids. enil3eancd
A @jo B @jo madlelss eoenomied aymomo xx 10~ 2 kgms ! @em. a@Rallo GosSiom
aljdemmoadiad x e alleiosm’

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 22 Question Id : 8643516322 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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An infinite number of point charges, each carrying 1 pC charge, are placed along the y-axis
aty=Im,2m, 4m, 8§ m .............. g
The total force on a 1 C point charge, placed at the origin, is x x10° N.

The value of x, to the nearest integer, is

[Take = 9x10°Nm?/C?

4reg

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 22 Question Id : 8643516322 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

soeronmiimie 1 pC 20de a8 calodla) o10deRiew @M - @ReHETo y=1m,
2m,4m 8 m .. agilemem clafldlenim) edmmamia aaflgies 1 C ealoalaf
2100zl 9620l HBO@Mo enlelo x X 10° N @pen. afpauio @osSiEm al)bemmoswid

x mr@; cleioent

= 9107 Nm2/C2]

[
Response Type : Numeric
Evaluation Required For SA : Yes

Show Word Count : Yes
Answers Type : Equal

4:’:TE{]

Text Areas : PlainText
Possible Answers :

100

Question Number : 23 Question Id : 8643516323 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Two wires of same length and thickness having specific resistances 6 {} cm and 3 (2 cm
respectively are connected in parallel. The effective resistivity is p {2 cm. The value of p, to

the nearest integer, is

Response Type : Numeric
Evaluation Required For SA : Yes
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Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 23 Question Id : 8643516323 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

6 Q1 cm o 3 ) cm Ho W@ MiBalMiladlss (idflerowo g ace tilaalle algpalie
o088 oz HMiei mameadd sucWleflalldenim). manel somigdlalgl p O cm

@oem. afpleo @SIEM aljdemmoal@iad p o afleiwosm

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 24 Question Id : 8643516324 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A ball of mass 4 kg, moving with a velocity of 10 ms 1, collides with a spring of length 8 m
and force constant 100 Nm ~!. The length of the compressed spring is x m. The value of x,

to the nearest integer, is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 24 Question Id : 8643516324 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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4 kg @0V £88 &0} al0m 10 ms ! (ecumemmons alelanieruotd mlgo 8 m &o
enleinudledso 100 Nm ! 9o 988 &80 Milalloddldd e alarisleniim). @eadomeals
Mlafloddlem milge x m @@em. aggalle @S} aljdem moal@ld x oM allei@osmy

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 25 Question Id : 8643516325 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The t}-‘pical output characteristics curve for a transistor wnrkf_ng in the common-emitter

conf iguration is shown in the igure.

Io(mA) ]
- B T R Ip=40 pA
Bpcseenas Pt o LemS0 A
T =20 A
7 .___?-f — Iz=10pA
p
Fa
D £ >

Vee(V)

The estimated current gain from the figure is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 25 Question Id : 8643516325 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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E0m6M- af)@lnd @ocumoaiad (cudemleanim ey sodmilmcland oy mme’ 8950g
madlettad®o &Aal allimoried soen olldlenimm).

Io(mA) T
Y| E— s LAl A
6 t---—----- . }.;"_.—:-— " Ix=30pA
!
4 e F T ;=20 uA
21— Iz=10pA
;j;
0¥ ’
Ver(V)

ofl@emlad dlimie eemgialldlencanm &0 analad epen
(a@pUle @SIE® aljdem mosuj@iiad )

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText
Possible Answers :

100

Question Number : 26 Question Id : 8643516326 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Consider a 72 cm long wire AB as shown in the figure. The galvanometer jockey is placed at

P on AB at a distance x cm from A. The galvanometer shows zero deflection.

120} 6}
."'-I-I-"'-I‘l."'.lc."'. (;_\ ""-,."-I'- lll-"'\.I‘il-".
i
QZ; )
|
X o
;‘ 2 ilt *B
A

| P

The value of x, to the nearest integer, is ;
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 26 Question Id : 8643516326 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

allmemlad soemlallalenimn ealoeel 72 cm mlamgs Hmll AB  al@liem]ss jdb.
womaemoalnd cmossl AB A @ mlmjie x cm gleewld P @ alollalesiom].
moacuemodigd aljglo alailwomo doemileaimmy.

120 . 610
-"'-, ."I". ."I". ,.'\- ({L A -l.""'-,.l' "\._."I"
f%:;\_
"\-._I|_.-"
X o
€
AW % * B
IJ-
|,

(a@pQUle @S alidem muoaliidd x e afleioery

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 27 Question Id : 8643516327 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A galaxy is moving away from the earth at a speed of 286 kms ~ !. The shift in the wavelength

of a redline at 630 nm is x> 10~ 10 m,

The value of x, to the nearest integer, is

[Take the value of speed of light c, as 3 x10° ms ™ ]
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 27 Question Id : 8643516327 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

80} uyelsmn g)aleldd mimmio @pd.eeldds) 286 kms ! ecounmailad alellenim). 630 nm
@ aljala]) cEaIWIOS Meoweancdealorilegs mogo xx 10~ 10 m @em.

aEACUle @RSIED alidem moajdldd x e allel eem

[loi0m@milon eauw® ¢, =3 x10% ms ™ 1]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 28 Question Id : 8643516328 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Consider a water tank as shown in the figure. I's cross-sectional area is 0.4 m?. The tank
has an opening B near the bottom whose cross-section area is 1 cm? A load of 24 kg is
applied on the water at the top when the height of the water level is 40 cm above the bottom,
the velocity of water coming out the opening B is v ms L.

The value of v, to the nearest integer, is

[Take value of g to be 10 ms ™~ 7|

24 kg
[ A
..
B I-.I'.. S

Response Type : Numeric
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Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 28 Question Id : 8643516328 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

all@elad Hoemlafldlenion calonaiwigs &) aogd som aldlmerienids. @ralen
cama-®eal allmielidemo 0.4 m? @em. somlem movamodl B agmm apeewle’ 1 cm?
camcmel allmicldemo eeng. movam milomjo 40 cm HWEETIE Husse oilddeaiemuoud
ecuaammimy mislad 24 kg emwedl. @oro lewouilafigiens. apemiieyes (B) allocmmdes)
Qe eaIgeEmen (aletutoe v ms™ ! @pem. afRllo @SIED aljdemavosjwilc
v @es om afleosny

(gom allel 10 ms™2)

24 kg
&A

ai

WEDR
TR

B

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 29 Question Id : 8643516329 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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A TV transmission tower antenna is at a height of 20 m. Suppose that the receiving antenna
is al.

(i)  ground level

(i)  a height of 5 m.

The increase in antenna range in case (ii) relative to case (i) is n%.
The value of n, to the nearest integer, is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 29 Question Id : 8643516329 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

8} Sl all pessalem dleeien ea@nwes ewee 20 m @en: mufle.dleml
Goliilley

(i) ®0 dloafldd

(i) 5 m oo

ep@inwies cosmaileyas caudabmad (i) om @oealsslla] (i) 0 n%epidkesjo.
afACUle @RSIEM alidem o) n e alleiwosm

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 30 Question Id : 8643516330 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The radius of a sphere is measured to be (7.50 = 0.85) cm. Suppose the percentage error in its
volume is x.
The value of x, to the nearest x, is

Response Type : Numeric
Evaluation Required For SA : Yes
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Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 30 Question Id : 8643516330 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

80} cogETen @aeo (7.50 + 0.85) cm @& @lgeasien]. @ralen aljoalwiollees

®DOM alltods x GROEMT dhd)mdb.

a@ACUle @RSIE aljdemmicalioiad x e allaioem’

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Chemistry Section A
Section Id : 864351423
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 80
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 864351423
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 8643516331 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A hard substance melts at high temperature and is an insulator in both solid and in molten
state. This solid is most likely to be a/an:

Options :
86435118991, lonic solid
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86435118992. Cowvalent solid

86435118993, Metallic solid

86435118994, Molecular solid

Question Number : 31 Question Id : 8643516331 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

80 ®35W8s eodmoo @AM Mouldlaidal onldlo, HISIOm @AW ©0)d:lQ
@paloundiele aleocumn@leljo &o) enmaviealnd @em. & alrclmimy deanlonie
Options :

86435118991. EDEHOSHS e

86435118992, COLORINT EURO

86435118993, GEIOa0EU0O

36435118994, C2OELE00 G0

Question Number : 32 Question Id : 8643516332 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :
Statement | :  Bohr's theory accounts for the stability and line spectrum of Li* ion.

Statement Il :  Bohr's theor}’ was unable to expla_f_n the splitting of spectral lines in the

presence of a magnetic field.

In the light of the above statements, choose the most appropriate answer from the options

given below :
Options :
86435118995 Both statement I and statement 11 are true.

86435118996, Both statement I and statement Il are false.

86435118997, Statement I is true but statement 11 is false.
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86435118998, Statement 1 is false but statement 11 is true.

Question Number : 32 Question Id : 8643516332 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
@O MENB) (III@ICUMeD Mddesl @l dlaninmy:

ladmdmocum 1: esnuadlen mflabonmo Li* @eeosaniend mudlemmie aeelid minalds(Sallo

floacledlaniom).

(lmimocum 11 : 8m) &Homtile: aemLeIe@ Miealasm uUoddhod alleedlay) ealoama
geruodlen milavonmardiad allvedledleanadd & Slem ile).

D )ehall @ E)BIS)OTIEle010M (IMmILMEBINS OS] oJETa MmOy 6@as)muldlenimm
80aladmdal@ allor agpalle @MEWORMOWE EOOETINSIH6)jdb.
Options :

fli@ocum 1 eo (almimocum 11 o vadleoend.
86435118995.

mimocum 1 mimocum 11 3l =k 1]
86435118996, - o Do R

26435118997 @1V@OCUM 1 Lodl@oem’ agymoad faimimontm I &mEo6N.

86435118998, el mimonumn I emEoem agmMmomd, nlmimaaum 11 vodl@oe).

Question Number : 33 Question Id : 8643516333 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The charges on the colloidal CdS sol and TiO, sol are, respectively :

Options :

86435118999, Positive and positive

86435119000, Negative and positive

86435119001, Positive and negative

86435119002, Negative and negative
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Question Number : 33 Question Id : 8643516333 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

CdS sol, TiO, sol ag)mm eoeafiowj@mheldh 088 2 10d&)-M WLNodhOo :
Options :
26435118999, Eomiigialo eatomiidlaie

amondliclle eatomiiglallo
86435119000. dla gl

86435119001, caomiiglaso emmglaye

emomalclle emoalallo
86435119002. gla S

Question Number : 34 Question Id : 8643516334 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The first ionization energy of magnesium is smaller as compared to that of elements X and Y,

but higher than that of Z. The elements X, Y and Z, respectively, are :
Options :

86435119003, T80T, chlorine and sodium

86435119004 chlorine, lithium and sodium
86435119005, argon, lithium and sodium

86435119006, €OT sodium and chlorine

Question Number : 34 Question Id : 8643516334 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
aurlayy@ilend EDE) EPEWINNEMENaHMD 9vdzo X , Y mow) monmaie 6.0I1Quemiocd
dh)OCLI06M ag)MO@ Z end®oud cuey@moen. X, Y, Z a0l @mieldaentd @Lndidhao :

Options :

86435119003, @206, egodlid, emouflwo
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26435119004, CPCIMD, eflidl@o, smondiwo

26435119005, @@, aflidloe, eroauwo

mlewosnd, emvorfiwo, rs@acﬂn%
86435119006.

Question Number : 35 Question Id : 8643516335 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List - I with List - 11 :

List - 1 List - 11
(a) Mercury (i) Vapour phase refining
(b) Copper (if)  Distillation Refining
(c) Silicon (i) Electrolytic Refining
(d) Nickel (iv) Zone Refining

Choose the most appropriate answer from the option given below :
Options :
86435119007, (@)-(i), (b)-(iii), (c)-(iv), (d)-(1)

86435119008, @)-(1), (b)-(iv), (c)-(ii), (d)-(iii)
86435119009, (@)-(1), (b)-(iii), (c)-(1), (d)-(iv)

seas110010. @), (B)-GV), ©(ii), (@)-()

Question Number : 35 Question Id : 8643516335 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

40/95



3/18/2021

algld - 1, alglds - 11 20wfl eaidjonls] @.aldse .

algld - 1 algld - 11
(a) emdan)dl i) euontiafledlal voyadlanemo
(b) e@Boa|d (i) emyem wjallenemo
(c) ilelesnoend (i) epeidesoeldls voiallanemo
(d) odlaead (iv) emvoend voyallamemo
®06Y OdhIS AWM Boalaumidhal@ mlaT agpaule @PMIEWIRIMIDW HEDRO
@ ST S b6 fb.
Options :

86435119007, (@)-(H), (b)-(iii), (c)-(iv), (d)-()
86435119008, @)1, (b)-(iv), (c)-(i), (d)-(iii)
86435119009. (a)-(1), (b)-(iii), (c)-(1), (d)-(iv)

26435119010, @ (1), (b)-(iv), (c)-(iii), (d)-(1)

Question Number : 36 Question Id : 8643516336 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
In basic medium, I—IZID'2 exhibits which of the following reactions ?

(A) Mn?* — Mn**

(B) L—=1

(C) PbS — PbSO,

Choose the most appropriate answer from the options given below :

Options :

86435119011, M) only

86435119012, (B)only

86435119013, (&), (B) only

A), (C) only
86435119014.( NI
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Question Number : 36 Question Id : 8643516336 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
60} eerumile dauloemiad H,O, ey demlofldenymaila ofe®oeds (aloud@mmesod

MSmM]0
(A) Mn?* — Mn??

(B) LI

(C) PbS — PbSO,

@OOY 6dh0SIMTRIH0IMN Boalaumidhal@d mlnm afRUle @PMIEWIRIMIDW HADRO
OIHRMWISETNE

Options :

86435119011. paae

86435119012, (B) DOL®o

26435119013, | 1 e A ) AmiS. Mg

86435119014, () ®@do (C) @jo @mo@o

Question Number : 37 Question Id : 8643516337 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List - I with List - 11 :

List - 1 List - 11
(a) Be (i) treatment of cancer
(b) Mg (ii) extraction of metals
(c) Ca (i) incendiary bombs and signals
(d) Ra (iv) windows of X-ray tubes

(v) bearings for motor engines.

Choose the most appropriate answer from the option given below :
Options :
86435119015, @-(1v), (b)-(iii), (c)-(ii), (d)-(i)

86435119016, @), (b)-(iv), (c)-(i1), (d)-(v)
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26435119017, @V), (b)-(i), (c)-(), (d)-(ii)

26435119018, \@)-(il), (D)=(iv), (c)-(v), (d)-(ii)

Question Number : 37 Question Id : 8643516337 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
alglds - 1, alglds - 11 @0 ealdjoalS] ¢.alddeid:.

algle - 1 alglé - 11
(a) Be (i) dwodaud allsslar
(b) Mg (ii) eewvensmsles eobeldlendd
(c) Ca (i) @ALEOTIMES CerUIoN®bale MIluNalhalo
(d) Ra (iv) X-80 S|eNHEINS EOBIHo

(v) emoesod agemimiealns esm@clouiimoa]

@6 61h0SIMTISIBR 60alarmidhelad Mlam aRROlle @RMIEREIMIWE GIREOETNSJBE) jdb:
Options :

86435119015, @)-(1v), (b)-(it), (c)-(i1), (d)-(1)
26435119016, (@), (b)-(v), (c)-(i1), (d)-(v)
86435119017, @) (b)-(if), (c)-(0), (d)-(ii)

26435119018, \@)-(id), (D)-(iv), (c)-(v), (d)-(ii)

Question Number : 38 Question Id : 8643516338 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The oxidation states of nitrogen in NO, NDE, NZD and NDE are in the order of :
Options :

NO > NO, > N,O > NO;
86435119019. :

N,O > NO, > NO > NOj
86435119020, :
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86435119021, NO2> NO3 > NO > N,0O

NOZ >NO, > NO > N.O
86435119022. NOs 2 2

Question Number : 38 Question Id : 8643516338 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
NO, NO,, N,O, NO; agmilaui@iad 988 eemsSzem aodmildahoem @almowmies

(B@MMOET :
Options :

NO > NO, > N,O > NO;
86435119019, ol ;

N,O > NO, > NO > NOj
86435119020, 2 : ~

= - =
86435119021, NO2> NO; >NO >N,0

NOZ > NO, > NO > N.O
86435119022. NOs 2 2

Question Number : 39 Question Id : 8643516339 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The oxide that shows magnetic property is :
Options :

P

Si0
86435119023. x

Mn, O
86435119024, 34

MgO
86435119025,

Na,O
86435119026. =

Question Number : 39 Question Id : 8643516339 Question Type : MCQ Option Shuffling : Yes Is
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Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

@Ol MIEONU0 BH06TIlean MmN BoHeerIL @6 :

Options :
5i0,
86435119023.

Mn,O
86435119024, 34

MgO
86435119025.

Na,O
86435119026. =

Question Number : 40 Question Id : 8643516340 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The secondary valency and the number of hydrogen bonded water molecule(s) in
Cu504'5H2D, respectively, are :

Options :
86435119027, 4 and 1

86435119028, 0 and 4

86435119029, > and 1

86435119030, 0 @nd

Question Number : 40 Question Id : 8643516340 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
CuSO,-5H,0 -@d 988 equanmwol casoaidmil@ie aea0(WRMD eemiomzas =el

emOgldIQIHRIOSWI0 ag)eNo WLOdhHAO :

Options :

4 1
86435119027. 20t 29

) 4 &o
86435119028. o
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5 1 8o
86435119029. g

beo b
86435119030. 2 o

Question Number : 41 Question Id : 8643516341 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :
Statement 1 :  Non-biodegradable wastes are generated by the thermal power plants.
Statement Il : Bio-degradable detergents leads to eutrophication.

In the light of the above statements, choose the most appropriate answer from the options
given below :

Options :

8643511903 Both statement I and statement II are true.

86435119032 Both statement I and statement 1l are false.
86435119033, Statement 1 is true but statement 11 is false.

86435119034, Statement I is [alse but statement 11 is true.

Question Number : 41 Question Id : 8643516341 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
MY MENE (ol MIMICUMeLUD 6105 YTl D610,

lalmimocum 1: ®mocalod® mlai@esid aozal-gldemmoe msanomm @moellm)as i
@0 Slalleaninm).

ladmocum 11 : eemal gldgpmoe mseeim wlgdemistd iestadlesnanm) &-ooemo
@O,

D)l OO len )M (MmO Md:a1nS Ol ool moaY 6&:0S)mldlee)m

s0alatmidal@ ailaor appalle @MEWORMOWE GOOTINS 6 ds.
Options :

fli@ocum 1 eo (almimocum 11 o vadleoend.
86435119031.
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mimocum 1 mimocum 11 O BNOEM
86435119032, - Do oy

26435119033, @O 1 cadl@oem’ agimodd almimocum 11 emgosn.

MI@OCLIN 1 &BMARVEM af)MMOEd mimocum 11 cadlavoe.
86435119034, el a0 » o]

Question Number : 42 Question Id : 8643516342 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :
Statement 1 :  C,H:OH and AgCN both can generate nucleophile.
Statement Il : KCN and AgCN both will generate nitrile nucleophile with all reaction

condilions.

Choose the most appropriate option :
Options :

86435119035, Both statement I and statement 11 are true.

86435119036, Both statement I and statement 11 are false.

86435119037 Statement 1 is true but statement 11 is false.

R6435119038. Statement 1 is false but statement 11 is true.

Question Number : 42 Question Id : 8643516342 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
MY MENZ] (INIWOCUM LD O Ol @lenim) -

ladmdmocum 1: C,H50H mjo AgCN Mjo Miighle@onsan@d 9eNs0H00m quoulleeio

ladmimocum I : KCN mjo AgCN Mo ag)g)o (aludmmm @oamind:aiaies aemee|sad

MygKIeoHnHaNm HENBIBNM HFlwlo

@)dhalTd 8051l I (MmO MER1NS OS] o omlad Mmoay 6d0s)mrmldleninm

830alamdal @ aflom afgpallo @OMEWORMOW® @ OEETTMS 186 db.
Options :
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o lromocum 1 almimacum 11 alaoen.
86435119035. : 2 | &o

86435119036, 'EVMSIDANATE gia gelenxmanun I o & Eperi

R6435119037. llorimonu 1 cedlaoem’ agymomd (almimocum 11 exmgoen.

86435119038, el mi@mocum 1 empoem ag)Moad, nlmimocum 11 vadl@oen).

Question Number : 43 Question Id : 8643516343 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In the following molecule,

d
H,;C

ekl

Hybridisation of Carbon a, b and c respectively are :

Options :

el 2
86435119039, F » P 5P

i o o
86435119040, 7 5P 5P

-
86435119041, 17 P 5P

3 2
sp-, sp, §
86435119042. i

Question Number : 43 Question Id : 8643516343 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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®o6PWIes Emoslds) e d

d
H,C

Nl o

(-__

-
4\

&Hodenuemlea eanoilloanemaud a, b, ¢ agmilcu @LOdEhDO :
Options :

;i 2
86435110039, 77 P’ P
L P
86435119040, 7+ P77 5P
sp°, sp, Sp
86435119041.

sp, sp, sp?
86435119042. e i

Question Number : 44 Question Id : 8643516344 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Main Products formed durf_ng a reaction of l-methox}f 11aphthalene with h}-'droicrdic acid

are :
Options :
[

and CH,l

86435119043.
[

and CH;OH

86435119044.
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and CH,OH

G-

86435119045.

OH

and C I-I3I

o

86435119046.

Question Number : 44 Question Id : 8643516344 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
l-ememodh il moadmelld aaanewo @eecwowlse @pmilaflaoal] (nlcudens] oo

ENBOCLM (AIWIM HIAIMETRGD @6

Options :
I
“ and CH,]
86435119043,
1
“ and CH,OH
86435119044,

OH

and CH,OH

o

86435119045.
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OH

and CH3I

86435119046.

Question Number : 45 Question Id : 8643516345 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In the reaction of hypobromite with amide, the carbonyl carbon is lost as :
Options :
86435119047. CO

86435119048. S

'S 8
86435119049. 3

HCO}
86435119050, -

Question Number : 45 Question Id : 8643516345 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
£6a0Cal0CENIONDE @HOHDUDIW alUBEB6EMIID &HodEeLOOHEMED BHodered
MaHSMIOLM®@ ag) Mmoo ?

Options :

86435119047. €O

86435119048. €O,

'S 8 5l
86435119049. 3

HCO,
86435119050. 3

Question Number : 46 Question Id : 8643516346 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
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Correct Marks : 4 Wrong Marks : 1

O

H*, Heat

dil NaOH y Y § y Y

(o]

Consider the above reaction, the product ‘X" and "Y' respectively are :

Options :

d”o ﬂ/@
86435119051.
86435119052. é’/‘Q
86435119053. é/@ &r///\:
86435119054. d’ﬂo dff;@

Question Number : 46 Question Id : 8643516346 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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: +
> d11NaOIl}uX" H, Heat

}_ & YH’

D)balerl ([lud@mmmo ald@lmemilen)d: X, Y af)ml §@almMmesmetd @LOo(d@hao

Options :
O O
é& ; M
86435119051.
OH O
86435119052. O é
O O
W ‘r M:
86435119053.
O O
W lr M
86435119054.

Question Number : 47 Question Id : 8643516347 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

An organic compound “A” on treatment with benzene sulphonyl chloride gives
compound B. B is soluble in dil. NaOH solution. Compound A is :

Options :

86435119055, 6115~ CHy NH CH,
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C.H.-N-(CH
86435119056, & 2 (CHy),

C,H; ~ NHCH,CH,
86435119057, ~© 2=
CeHs —CH—NH,

86435119058. fakiy

Question Number : 47 Question Id : 8643516347 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
80) HOHRA MoWsmo “A” eei@milm m@eandneemeymon il aiudedlaf ajealodd

Too@}sMo B &£13]. B enwail dil. NaOH @b aidlanmM@osm. £egRalMomismo A @ :
Options :
86435119055, <6 15~ CHy NH CH,

C.H.-N-(CH
86435119056, © 2 (CHy),

C.H; ~ NHCH,CH,
86435119057, 2
CeHs—CH—NH,

86435119058. Sk

Question Number : 48 Question Id : 8643516348 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

NH, NH, NH, NH,
NO,
HNO;, H,80,
> + +
288 K
NO,
NO,
A B C

Consider the given reaction, percentage vyield of :

Options :
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86435119059, ‘+~>C>B

86435119060, © > A > B

- e
86435119061. St

86435119062, ©> B> A

Question Number : 48 Question Id : 8643516348 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

NH, NH, NH, NH,
NO,
HNO;, H,50, "
‘ > +
288 K
NO,
NO,
A B C

aisaleal plodemmoe al@menilaeid,mmom LIGIMd:UD
Options :

86435119059, + > ¢ > B

86435119060, © > A > B

=C >
86435119061. B>C>A

86435119062, &> B> A

Question Number : 49 Question Id : 8643516349 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Match List - I with List - 11 :

List -1 List - 11
(Class of Chemicals) (Example)
(a) Antifertility drug (i)  Meprobamate
(b)  Antibiotic (i) Alitame
(c) Tranquilizer (iii) Norethindrone

(d) Artificial Sweetener (iv) Salvarsan

Choose the most appropriate match :
Options :
26435119063, \@)-(1v), (b)-(iii), (c)-(ii), (d)-(i)

26435119064 @), (b)-(iii), (c)~(iv), (d)-(i)
26435119065, @), (b)-(iv), (c)-(1), (d)-(ii)

86435119066, (@ (i) (B)-(v). (c}-(0). (d)-(1i)

Question Number : 49 Question Id : 8643516349 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
alglds - 1, algls - 11 @m0 ealmlonls] @olddesid

i Sl - 1 alglds - 11
(moqualcodmostealns alleowo) (9B0aOMEMoO)
(a) cuOwWy® @M (i) eaelMmdEng
(b) eE@eucwos]s (ii) @moelesa’
() somdafesairod (iii) emoecummlodewoed
(d) @ydia aoflgmd (iv) ooadcuodooend

afRUle @OMIEWORIMOV® EHOEETTTNS J86))db.
Options :

86435119063, (@)F(), (b)-(ii), (c)-(ii), (d)-(1)

26435119064, (@) (1), (b)-(iii), (c)-(iv), (d)-(i)
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86435119065, @) (11), (b)-(iv), (c)-(1), (d)-(ii)

86435119066, @) (H) (B)-(v), ()-(0), (d)-(iii)

Question Number : 50 Question Id : 8643516350 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Deficiency of vitamin K causes :
Options :
86435119067, ncrease in blood clotting time

86435119068. Decrease in blood clotting time

86435119069, Cheilosis

86435119070. Increase in fragility of RBC's

Question Number : 50 Question Id : 8643516350 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
eeundad K @ies ealorowio :

Options :
26435119067, PO ®Sallslenond as mawo &)5im)
26435119068, Do @SaliSleadd 9aa mmwo @0ienim)
26435119069, e6dheelomiimy’ (Cheilosis)

RBC @es (anzelldl &)5iom
86435119070. e B SIS

Chemistry Section B

Section Id : 864351424
Section Number : 4
Section type : Online
Mandatory or Optional : Mandatory
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Number of Questions : 10

Number of Questions to be attempted : 5

Section Marks : 20

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 864351424
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 8643516351 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

10.0 mL of Na,CO; solution is titrated against 0.2 M HCI solution. The following titre values
were obtained in 5 readings :

48 mL, 49 mL, 5.0 mL, 5.0 mL and 5.0 mL.

Based on these readings, and convention of titrimetric estimation the concentration of NE[-)CD-_E

solution is mM.

(Round off to the Nearest Integer).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 51 Question Id : 8643516351 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

10.0 mL Na,CO; elo@ail 0.2 M HCI ev@l 9alecwoddlal aosesq eol0®m). @iy

605 )aldlenim 5 Glallend @l eassd alleieud eidl oyl
48 mlL, 49 mL, 5.0 mL, 50 mL and 5.0 mL.

v alleldag alal, aesigleaSkss) agplemannd msemileila Na,CO, epnomilwes ¢mousm

@6 mM.
(e®IgSIO® aljdem muoawil@)
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100
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Question Number : 52 Question Id : 8643516352 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The number of species below that have two lone pairs of electrons in their central atom is

(Round off to the Nearest Integer).
SF, BF, , CIF;, AsF, PCl;, BrF., XeF,, SF,

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 52 Question Id : 8643516352 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

@6 E)1ih0S B dBlen M@ edh((3 @ERDRETG ©6enS Gl Hal®d ERIHESIMhEISs

@ D@D af)spo OENE. (OMOZSIOM aljdem uos)wiad)

SF,, BE; , CIF,, AsF,, PCL,, BrF,, XeF,, SF

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 53 Question Id : 8643516353 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The gas phase reaction
2A(g) = Aqxg)
at 400 K has AG°= +25.2 k] mol ~ 1.

The equilibrium constant K- for this reaction is %10~ 2 (Round off to the Nearest
Integer).

[Use: R=83] mol ! K1, In 10=23
Iogm 2=0.30, 1 atm=1 bar]
[antilog (—0.3)=0.501]
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 53 Question Id : 8643516353 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

400 K -@ 0o Ganmy alcudmmme
2A(g) = Ay(g) M AG"= +252 k] mol L,
0 [alcudemmediien cummelse mudlooso K- ok |l
(6mogSiO® aljdem muoa)wil@d)
[R=8.3] mol~! K-, In 10=23
logig2=0.30, 1 atm=1 bar]
[antilog (—0.3)=10.501]
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText

Possible Answers :

100

Question Number : 54 Question Id : 8643516354 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
A solute A dimerizes in water. The boiling point of a 2 molal solution of A is 100.52°C. The

percentage association of A is . (Round off to the Nearest Integer).
[Use : K, for water =0.52 K kg mol ~!
Boiling point of water=100°C]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100
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Question Number : 54 Question Id : 8643516354 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

an) eflmo A sussemldd eowasnOm Holgm). A @OS 2 caosoE lowwies

@lgadlel 100.52°C @pem. A @es ealdemueme avemomile@andd @en
(e®mogSiom allbemmvosyj@iad )

[opcusamslof K,=0.52 K kg mol !

ecgamilen wlamie =100°C]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 55 Question Id : 8643516355 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
The solubility of CdSO, in water is 8.0 x 10 ~*mol L~ 1. Tts solubility in 0.01 M H,SO, solution
is x107°mol L~1. (Round off to the Nearest Integer).

(Assume that solubility is much less than 0.01 M)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 55 Question Id : 8643516355 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

CdsO, -em@ meonilales cai@mjo 8.0 x10~ 4 mol L~ ! @pem. @oaflom 0.01 M H,SO,
plo@Mldiegs celmio @Rem x10~¢ mol L-1,

(emogsio® allbemmuoawiad)

(cai@mio 0.01 M eM&N0d (LSO 6.210)MO6M ag)r Bimid:)

Response Type : Numeric
Evaluation Required For SA : Yes
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Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 56 Question Id : 8643516356 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The molar conductivities at infinite dilution of barium chloride, sulphuric acid and
hydrochloric acid are 280, 860 and 426 S cm? mol ~! respectively. The molar conductivity at
infinite dilution of barium sulphate is S em? mol ~ 1. (Round off to the Nearest

Integer).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 56 Question Id : 8643516356 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

@@l eldiafle) middlwo egonnon, Mbagydls ERMIW, HeaDEELIEHICIH
@i’ agmicu@ies emogod demesslalgl @noemmo 280, 860, 426 S cm? mol ~ !

ag)rilsTEem@oem.

@nmaow] adlqfla) eiodlwo mdeanglon caogod semesslallgl epem

Scm? mol !

(6mIgSIO® aljdem o wilad)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 57 Question Id : 8643516357 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

62/95



3/18/2021
A reaction has a half life of T min. The time required for 99.9% completion of the reacton is

min. (Round off to the Nearest Integer).

[Use : In 2=0.69; In 10=23]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 57 Question Id : 8643516357 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

80} (oludemmemlm @edwowiny er) almlg @@em. @07 (alaudemme 99.9%
ol JAET @osHIM8s Mao @D dlodlg (emogsimm aljdem muoaly@idd)
[In 2=0.69; In 10=2.3]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 58 Question Id : 8643516358 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A xenon compou nd ‘A’ upon pa_rtial h}-‘drnl}fsis gives KC{)EFZ. The number of lone pair of

electrons present in compound A is __ . (Round off to the Nearest Integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 58 Question Id : 8643516358 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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8] miemosnd mowsmo ‘A’ om cUileaow esaoewoelmimy e.aldmea]odd XeO,F,

eidlg). MowiHmo ‘A’ Clad 988 CLM Hal®D EIHESIMIHRINS af)ffo @D

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 59 Question Id : 8643516359 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

COOH COOH

FeB
+Br2i} + HBr

Br

Consider the above reaction where 6.1 g of Benzoic acid is used to get 7.8 g of m-bromo
benzoic acid. The percentage }-'ield of the product is

(Round off to the Nearest Integer).
|Given : Atomic masses : C : 120 u, H: 1.0 u, O : 16.0 u, Br : 80.0 u]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 59 Question Id : 8643516359 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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COOH COOH

Fc:Br3
+Bry ———» + HBr
Br

D60 £88 (IUdEBMo aldlenHed. @oaiad 7.8 g -eEnoemo esnimdemo s @amilouy
elclenomd @l 6.1 g eeumderoie eami ealecwoudl aldlaninm].

i

O@alMETIOM DM LIGY® @6y
(emogs)®® alidemavoaymicd)

[rﬁ@rs;:;am”ioaa @M : C:120u, H: 1.0 u, O:16.0 u, Br: 80.0 y]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 60 Question Id : 8643516360 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
In Tollen’s test for aldehyde, the overall number of electron(s) transferred to the Tollen’s
reagent formula [Ag(NH,),]* per aldehyde group to form silver mirror is
(Round off to the Nearest Integer).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 60 Question Id : 8643516360 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

epdwlaecowmilmowies esogmmy’ esgyla, mil@dud adlod gensosnomowl
[Ag(NH;),] " @e@aflosanald’ (o] agm dlapzdleadd moQeqe|s e@mIemo
6D EIHBSIEMIBHBIOS af)effo @DEM

(O@ogsiE™ allbemmvosy@iad)
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Mathematics Section A

Section Id :

Section Number :

Section type :

Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :
Section Marks :

Mark As Answered Required? :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

864351425
5

Online
Mandatory
20

20

80

Yes

1
864351425
Yes

Question Number : 61 Question Id : 8643516361 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

If 15sin%a +10costa=6, for some aeR, then the value of 27sec®a+ 8cosec®a is equal to :

Options :

86435119081. =00

86435119082, 200
86435119083, 390

86435119084, 220

Question Number : 61 Question Id : 8643516361 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

aeR @, 15sin‘a+10costa=6 @o@O@, 27secba+8cosecba agMmallond ajelo :

Options :
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86435119081, 2V0

86435119082, 400

86435119083, 220

86435119084, 220

Question Number : 62 Question Id : 8643516362 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If P and Q are two statements, then which of the following compound statement is a
tautology ?

Options :

36435119085, (F= QA ~Q =P

86435119086, (P= Q) ~~Q)=Q

86435119087, (P=Q A ~Q) = ~P

36435119088, (P=Q)~ ~Q) = (P A Q)

Question Number : 62 Question Id : 8643516362 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
P, Q agmiloy @end (alimacUmM&Ba06m of)@sl@, @OeY 6)dh0S OTEIE]H 1M TVoW J&m

(mimocumafiadd esoegoad] apm ?
Options :
86435119085, (P=Q A ~Q)=P

86435119086, (P=Q) » ~Q) = Q

86435119087, (P=Q)A~Q) = ~P

86435119088, (P=Q » ~Q)= (P~ Q)
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Question Number : 63 Question Id : 8643516363 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A pole stands vertically inside a triangular park ABC. Let the angle of elevation of the top of

If the radius of the circumcircle of AABC is 2,

the pr:rle from each corner of the park be =

3
then the height of the pole is equal to :

Options :
86435119089, 3

86435119090.

86435119091.

86435119092.

Question Number : 63 Question Id : 8643516363 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
ABC agm (@esoemodmlaflenes olodsslion esglad eocminow] en) @6

mlaledmoaaimm). (@lesoemamlon eiend ojaldid dlimie menden oisdleasnias
GO EIEBIEND %m@sm“ AABC wjes aldloyemesion apoe 2 @pem, ag)@la, mienla

WMo a)M@ :

Options :
2J3
3

86435119089.

25

86435119090.

1
Wed

86435119091.
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V3

86435119092.

Question Number : 64 Question Id : 8643516364 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let in a series of 2n observations, half of them are equal to a and remaining half are equal to
—a. Also by adding a constant b in each of these observations, the mean and standard

deviation of new set become 5 and 20, respectively. Then the value of aZ+b?is equal to :
Options :
86435119093, 222

86435119094. 425

86435119095. o

86435119096. 20

Question Number : 64 Question Id : 8643516364 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

2n riidleuememB(d 088 o) eaemlwla, aldwll rldauemeanid a-ecwos @ielljo nioHs)
aldh)@ —a-GWos MENIMOET. &)S0em ag)gld Mdlexememesosio mudlemoan)ow b
dHISIeMU0R, wedtdlmie guomewdnl’ adlallemanmio @odhmo 5, 20 agyilemsam
@YY af)@slad, aZ+b? agmailen melo:

Options :

86435119093, 925

86435119094. 425

86435119095. o

86435119096. 29

Question Number : 65 Question Id : 8643516365 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
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Correct Marks : 4 Wrong Marks : 1

Let in a Binomial distribution, consisting of 5 independent trials, probabilities of exactly
1 and 2 successes be 0.4096 and 0.2048 respectively. Then the probability of getting exactly
3 successes is equal to :

Options :
40

86435119097, 243

80
86435119098, 243

128

86435119099. o

i

86435119100. i

Question Number : 65 Question Id : 8643516365 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
5 endallaalmdond isweldktd 988 an) eaaeuemodliead allmiglenjaumiad 1 gwo mome
2 2QEMBG M@ af)MCUWINS MOUNMEUD @LOd@me 0.4096, 0.2048 ag)nilemEe mM@Oosr).

af)BIad, &i@o 3 BB Mocnllendimias oW ag)ma) :

Options :
40
86435119097, 243
80

86435119098, 243

128

86435119099. =

oy

86435119100. 2
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Question Number : 66 Question Id : 8643516366 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

— ot =
AB| = 10, then the projection of the vector AB on

CA‘ =7,

% .
In a triangle ABC, if|B{:‘ — 8.

% &
AC isequalto:

Options :
115
86435119101, 10
85

86435119102, 14

86435119103, 20
25
86435119104, 4

Question Number : 66 Question Id : 8643516366 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

(@llesmoemo ABC @ilmd ‘B_(_t‘ =8, ‘C_i‘ = ‘?B‘ = 10 @DQOTD, .-:'TE ag)mn ama:sdlm“.;?;
@ 988 elalo@e
Options :
115
86435119101, 1°
85

86435119102, 14

86435119103, 20

86435119104.
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Question Number : 67 Question Id : 8643516367 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Let the centroid of an equilateral triangle ABC be at the origin. Let one of the sides of the
equilateral triangle be along the straight line x + y=3. If R and r be the radius of circumcircle

and incircle respectively of AABC, then (R +r) is equal to:

Options :

o

86435119105.

sl

86435119106.

86435119107 7V2

86435119108.

Question Number : 67 Question Id : 8643516367 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

ABC agym moe)R (@fleamoemanmien edh o @pwonenlliaziaiosm. (@lesmoemadion 6]
Uwo x+y=3 oo emdeesi@iaoem’. R, r agMmial @wodhdmo AABC @)6S

aldluymnosiefeie eenmdoymmemiomoie @R @RI, (R+r) agrma :

Options :
2
86435119105.
&
2
86435119106.
86435119107. 7V2

3
86435119108.
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Question Number : 68 Question Id : 8643516368 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
. : :
Let a tangent be drawn to the ellipse ;—H [ yz = 1at I,'_“:'.ﬁcggﬂ,gmﬂ_] where 0 E(U, %]
i i, A

Then the value of 8 such that the sum of intercepts on axes made by this tangent is minimum

is equal to :
Options :
K
3
86435119109.
o
6
86435119110.
w
8
86435119111.
L
4
86435119112.

Question Number : 68 Question Id : 8643516368 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
- | _
;—_ y? = 1agmm ddeeiuyememiad (343 coss, sin) 0 E(U, %] agym enflmaflayns ewy
S ',
EWISJOLIM BSMCI0R)NMN). af)Bsl@d, )2 l8:08H6TRalT 600 HMOS )W NS BB EHRINS
@i aRRUe .210)mHEmEs Allwemldd 0 & madsoam ajelio agm :
Options :
%
3

86435119109.

86435119110.
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IER

86435119111.
m
4

86435119112.

Question Number : 69 Question Id : 8643516369 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

& 2 )
Let y=y(x) be the solution of the differential equation Ij = (y + 1) [fy | 1_301'" x|
; dy :
0 <x <21, with y(2)=0. Then the value of N at x=1 is equal to :
Options :
o
2
[1 [ u:-2 )
86435119113.
2e”
7
'[1 | ::-2]
86435119114.
5072
1_02 o | 3
86435119115.
D}i;
¢ 2
1_02 | 'l]
86435119116.

Question Number : 69 Question Id : 8643516369 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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d ' i
£= (y+ 1) ((y+ 1)e2-x), 0 < x < 21 agem WlanoMady@d om0 )@l e

al@lanoemoem y=y(x) . @Idd y(2)=0 @od:)M). ag)@dad, x=1 G % O Mlejo ag)omna) :

Options :

[1 F e
86435119113.

2
{1 [ ez]
86435119114.

86435119115.

86435119116.

Question Number : 70 Question Id : 8643516370 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The area bounded by the curve 4y?=x?(4 — x)(x—2) is equal to :

Options :
31
86435119117. 8
T

86435119118, 16

|4

86435119119.

86435119120.
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Question Number : 70 Question Id : 8643516370 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

4y =24 —x)(x —2) ag)m A ofldemallenim cowemien aleaigal

Options :
3
8
86435119117.
ao

86435119118, 16

|3

864351191109.
By
2

86435119120.

Question Number : 71 Question Id : 8643516371 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

= f{t) = 1 for all

(| =t

Let g(x) = _I;L f(t)dt, where f is continuous function in [0, 3] such that

1
tel0,1]and 0 = f(t) = ~ forall t € (1, 3]. The largest possible interval in which g(3) lies is :

Options :
1
=3
3
86435119121.
1
L3
2
86435119122.
1, 3]
86435119123.
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Fe-

Question Number : 71 Question Id : 8643516371 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

86435119124.

X

glx) = L} f(Hdt, @iy [0, 3] agm seausTiad fagm@) eengimuaimy aneBEaumos.
ag)glo te [0, 1] eyo % < fl) =1 @B HISoOm te (1,3],0 < f(t) < % @em. ag)ssldd,

g(3) cudiafle aigumm mowWimow DM ENSEAIRWIET :

Options :
[§!
57|
3
86435119121.
1
; _}
2
86435119122.
[1, 3]
86435119123.
2=
=y
2
86435119124.

Question Number : 72 Question Id : 8643516372 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

77/95



3/18/2021

Let f: R — R be a function defined as

i

|sin(a+ 1) x + sin2x

L,ifx=0
, s
f(x)=14b Lifx =0
| ] 3
' = bxaa. Vx Jifx >0
| bx"

If fis continuous at x =0, then the value of a +b is equal to :

Options :
)
86435119125, 2

86435119126, — 3

86435119127, 2

3
2
86435119128.

Question Number : 72 Question Id : 8643516372 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

f: R = R og)(™m adotFauad

i

|sin(a + 1) x + sin2x

LSifx=<0
, 2x
f(x)= b Jifx =0
3
L bxa; VX Lifx >0
( bx/?

ag)m’ dildcuallafldlenim) x=0 -@d f seElmyum’ epeemaslad, a+b @iOs mieljo

i

ag)mMmae) :

78/95



3/18/2021
Options :

5
86435119125, 2

86435119126, — 3

86435119127. 2

3
2
86435119128.

Question Number : 73 Question Id : 8643516373 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let S, be the sum of first 2n terms of an arithmetic progression. Let S, be the sum of first 4n
terms of the same arithmetic progression. If (S, —5) is 1000, then the sum of the first
6bn terms of the arithmetic progression is equal to :

Options :

86435119129, /000

86435119130, 2000

86435119131, 3000

86435119132. 1000

Question Number : 73 Question Id : 8643516373 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
S; Mm@ Bo) MMM CURNIRINs @DE) 2n alBETBEIOS @ HMOM. S; af)ME @ERE®
MDD EEURIIWIOS @DAE) 4N alBETBRIONS MIHDIET. (S,—S,) agmal 1000 @@,
MU@ONDECUYETIWIOS @AY 6n AlGEBRINS @id oM@ :

Options :

86435119129, /000

86435119130, 2000
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86435119131, 2000

86435119132. 1000

Question Number : 74 Question Id : 8643516374 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let S, : x2+y*=9 and S, : (x—2)2+y*=1. Then the locus of center of a variable circle S

which touches S 1 ﬁ‘lt[‘fl‘lﬁﬂ}-‘ and 52 extemaﬂ}-’ alwa}-'s passes ﬂ'urr:rug,h the points :

(2" + E\I|
L 2

s

Options :

86435119133.

'[U, + /3]

86435119134.

(1, +2)
86435119135,
[1 Jﬂ

86435119136, ’

Question Number : 74 Question Id : 8643516374 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
S, x2+y*=9,5,: (x—2)2+ %=1 @sHiM). S; aMmElem @oHea®le S, agMailem
al]0e0wio MBIl LIn®HIeNE] HSMIGalddhi S ag)m cujemaslen awimiosailen

TUERUVOAIO® af)E|@Eal0Pjo dhSMM) Galodklmm enilazyaioeny :

Options :
: 5
o2
86435119133, ’
0, = V3)
86435119134, |
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(1, +2)

(

".

86435119135.

r

3 | =

. )

86435119136.

Question Number : 75 Question Id : 8643516375 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let the system of linear equations

dx+ Ay +2z=0

2x—y+z=0

px+2y+3z=0, A, pek.

has a non-trivial solution. Then which of the following is true ?
Options :

86435119137, M=3 kel

86435119138, W= ~ 6 AeR

86435119139, M=2 neR

86435119140, =6, AeR

Question Number : 75 Question Id : 8643516375 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

@ildleaim eoalw maciossmetdes emosd-Sladlond emoeljaucd eene.
dx+Ay+2z=0

2x—y+z=0

wx+2y+3z=0, X, peR.

af)®lad oy e@:os)mvldlen)mauaicd ndewa ?

Options :
86435119137, M= keR
86435119138, W= ~ 6 AeR
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86435119139, M=2 neR

86435119140, =0, AeR

Question Number : 76 Question Id : 8643516376 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

| X
Letf: R {3} — R~ {1} be defined by f(x) = —.

Let g¢: R — R be given as g(x)=2x—3. Then, the sum of all the values of x for which

13
e+ g = — is equal to.
Options :

86435119141.

86435119142.

86435119143, 2

|

86435119144.

Question Number : 76 Question Id : 8643516376 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

f: R={3} - R—{1} agn anesaum f(x)= Ho@r‘m Mdcualafdlenim). ¢: R — R

ag)D aneFaumd g(x)=2x -3 agm’ eaidenymy. ag@l@ f )+ g () =1_; "o

wdl@odie allwamlad x - of MowiEo MeINETBERINS ®idh afMm :
Options :

86435119141. 2

86435119142. 5

86435119143,
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=

86435119144,

Question Number : 77 Question Id : 8643516377 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Let a complex number be w = 1 J3 i. Let another complex number z be such that |zw| =1

SIER

and arg(z) —arg(w)= = . Then the area of the triangle with vertices origin, z and w is equal

to :

Options :

b | =

86435119145.

86435119146.

| -

86435119147.

86435119148. .

Question Number : 77 Question Id : 8643516377 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

; m
w=1- 3i0f)Mn® 60} Ghlog|d T Moa)@IHIM]. [zw|=1, arg(z) —arg(w)= =
@D DOQOD) Gdhdogldh M) Moalj@oem z. af@lad @pwonellos] z, w agamlal

UBldaHBHETBROW (BHlesHoemmTlen aloalgal ag)mme :

Options :
1
86435119145.

2
86435119146.
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1
86435119147, *

86435119148. .

Question Number : 78 Question Id : 8643516378 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Defline a relation R over a class of n xn real matrices A and B as
“ ARB iff there exists a non-singular matrix P such that PAP~1=B".

Then which of the following is true ?
Options :

86435119149, R is reflexive, symmetric but not transitive

86435119150. R is reflexive, transitive but not symmetric

86435119151 R is symmetric, transitive but not reflexive,

86435119152 R is an equivalence relation

Question Number : 78 Question Id : 8643516378 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
nxn Jo@ enElen®aow A, B agmiloussi en) dleaaud R ofldatall afl@lseiom).

“PAP~1=B moeje cllwadildd P agym emosnd-milowjad eaiglemi P oeemeeldd momo
ARB @pem.”

o) #Idd @oevedosomildlenmauelal rdewd ?

Options :

R Glaassmilal, mieasle: @pem (somdmilgiol @rgl.
86435119149. W : E 3 &

R dlaadasmilal, soadmiglol emen milemiSle: @re.
86435119150. L ; 8 . &

R mileaiglas, (soddmilglal emem dlagqamial og).
86435119151.
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R &) endeeiday dlelarad @oem.
86435119152.

Question Number : 79 Question Id : 8643516379 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Consider a hyperbola H : x> —2y?>=4. Let the tangent at a point P (4, /6 ) meet the x-axis at

Q and latus rectum at R (x;, y4), xr; > 0. If F is a focus of H which is nearer to the point P, then
the area of AQFR is equal to .
Options :

6

86435119153.

&~

86435119154.

46 — 1
86435119155,

46

86435119156.

Question Number : 79 Question Id : 8643516379 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
H : 22— 2y?=4 ag)m o6anq|deeniog aldlwendlse db. P (4, J6) agm enflazyaflengs
OMOSIUD  x-ERHHOOD Q Bljo LIOQMY OOHSe R (xq, ¥y), x; = 0 dbigdaigmm). P agm

enflozjaliemos e.o1dmi 988 H-e cnnosami @em F ag)@lad, AQFR &) alvgi8al agme) :

Options :
N
86435119153.
7
— = 2
J6

86435119154.
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86435119155.

446
86435119156. V6

Question Number : 80 Question Id : 8643516380 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
.—} .—> .—> —
Let a and b be two non-zero vectors perpendicular to each other and [a| = |b|. If

—

, then the angle between the vectors | 3 + b 4 {a X h]:l and a isequal to:

—
a

g
a x b|=

Options :

-

£
51 =

.

cos 1 [
LY

86435119157.

£
I\f|| e
S ——

86435119158.

&=
h . i

86435119159.

sf_n_l{
LY

-
S

86435119160.

Question Number : 80 Question Id : 8643516380 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

o

.—}
aldMal®o EloMIMIW, oll@R\MLIoEm 06 ehSOlhasem a, b agomlal

[
a e

@ 06D
Options :

b | @@, ‘; o Q‘ _ m e, (3 + b + la x b)) o a wjo marlenss
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h'
Cos 1' %|
86435119157. b B
gl 4
cos —,_|
\_\'12,-'
86435119158.
g 1{ =
sin | —=
86435119159, o
sin” ! fi},__\]
VO
86435119160.

Section Id :

Section Number :
Section type :
Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :

Section Marks :

Mark As Answered Required? :

Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Mathematics Section B

864351426
6

Online
Mandatory
10

5

20

Yes

1
864351426
Yes

Question Number : 81 Question Id : 8643516381 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

If f{x) and g(x) are two polynomials such that the polynomial P(x) =f(x’) + x g(x’) is divisible

by 12+ x+1, then P(1) is equal to ____

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

87/95
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Question Number : 81 Question Id : 8643516381 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

P(x)=f(x’) + x g(x°) o @ x2+x+1 OBOENE aO@HHOLLM 6N 6Nla0jalBETRR06NT
fi2), g(x) gl agy@sldd, P(1) agomed _ @oen.

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 82 Question Id : 8643516382 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

1
Let I be an identit}-' matrix of order 2x2and P = [ ,J. Then the value of neN for which

5
P"=51-8P is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 82 Question Id : 8643516382 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

[ ol 2x2 eodawd 988 68} eagW gl enSlsam) apem. P = E }J @D BIM ).

ag)®l@d, P"=51-8P, neN agymaflod mjeyo  @oem.
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100
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Question Number : 83 Question Id : 8643516383 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

10

The term independent of x in the expansion of [ 3 T 57 . X £1, is equal
x/3 x¢ + 1 x—x

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 83 Question Id : 8643516383 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

10
x+ 1 X 1
[:.-1 T 7|, x £ 1, amosem®l@d, x 9eq|soam aleEmlemd
x’ x’3 4 x — x2 :

(DJEEMO@MmBO oM@ _ @DEm.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 84 Question Id : 8643516384 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
10

1f 3 rt (2® + 6r% + 2r + 5) = o (111),
r=1

then the value of « is unal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText
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Possible Answers :

100

Question Number : 84 Question Id : 8643516384 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

. :
> et le® + 6r° + 2r + 5) = a (111), ag)M@o6NT e UEM@INS ®d af)B@, « -IeS @elo

r=1

ik

([BIHE.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 85 Question Id : 8643516385 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Let P(x) be a real polynomial of degree 3 which vanishes at x= —3. Let P(x) have local

A
minima at x=1, local maxima atx= —1and _[ P(x)dx=18, then the sum of all the coefficients

of the polynomial P(x) is equal to __

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 85 Question Id : 8643516385 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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P(x) ag)m@ &)@l 3 @@ x=—3 G CUOWDOHIE B0} Nlanjalcmoem. Plx) af x=1ad

1
censad dlodlawie x=-1 @b caosand noglamio Qe IP{x]dxz 18 @oem. ag)slad
—1

P(x) ag)m énladjalemiflon ag)glo 1)eEMOTMmOMBRIOSWo @i @oem.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 86 Question Id : 8643516386 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Let y=y(x) be the solution of the differential equation xdy—ydx= 11',H[;rz yE ) dx, x=1, with

y(1)=0. If the area bounded by the line x=1, x=¢7, y=0 and y=y(x) is ae®™ + B, then the
value of 10(a+ ) is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText
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y(1)=0 @@ xdy—ydx= 15}.{xE y?) dx, x=1 ag)m aflano@auy@d qomOIod:)Oe

al@lanoemoem y=y(x) agm®. x=1, x=¢7, y=0, y=y(x) O rldenailenimm aloaj@al

ik

ae®™ + B agomoesmeslad, 10(a+p) agmailod mpello  @pem.
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Question Number : 87 Question Id : 8643516387 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

x 1_y|6_z|5
3 4 2

Let P be a plane containing the line and parallr:-l to the line

= = - If the point (1, —1, «) lies on the plane P, then the value of 5qf is

equal to
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Question Number : 87 Question Id : 8643516387 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

x—1 y+6 _z+5 x—3 y—2 z+b -
T "1 T 5 %9 Ers 9ReEnIaRIMMe — — = T = ——— g evass

MAMmOOE0W B0 @aimiem P. (1, —1, a) agm enllos) P agm melemicd oeenmss:ld,

L

Sal agymailon meye  @@em.
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Question Number : 88 Question Id : 8643516388 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Let the mirror image of the point (1, 3, a) with respect to the plane ? 2? ; | H b=0

be (=3, 5, 2). Then, the value of |a+b] is equal to

Response Type : Numeric
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Question Number : 88 Question Id : 8643516388 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

—3 A

BELY } | ;(:' b=0 afm meeoem @eslounomadds (1, 3, a) agm endlmjallan

Bdajem enflonimoem’ (-3, 5, 2). ag)@l@d a+b| @es ayefjo  @mem,
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Question Number : 89 Question Id : 8643516389 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Let "C, denote the binomial coefficient of x' in the expansion of (1+x)™"

10
If X 2% + 3k) nC, =30+ .21, o, BeR, then a+p is equal to _
c= 0
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Question Number : 89 Question Id : 8643516389 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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(1+x)" -0 aflayellsoemeomia, x -6 wiecemocmandem "C. ag)ma@).

10

v 2
2 1274 3K nC, =a30+B8.210, o, BeR @DWOMD a+B Mm@ @men.
k=10
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Question Number : 90 Question Id : 8643516390 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Let f: R — R satisfy the equation flx+v)=f(x). fly) for all x, y € R and f(x) = 0 for any x € R.

ait Ll . .
If the function fis differentiable at x=0 and f'(0) =3, then }I!ﬂ 5 \fi) = 1) is equal to
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Evaluation Required For SA : Yes
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Question Number : 90 Question Id : 8643516390 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

flx+y)=fix). fly) x, y € R ag)0m 0@ REI@ILHIM B0} aneSaumoem f: R — R.

oReO®ID, x € R Mo flx) # 0 @MY . x=0 -@ anedaydd [ allanOmayinilcd @pe.

e - : :
f(0)=>3 @oeemad, lm — (f) = 1) agomed  @oen.
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